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e) In the Simple Keynesian model without
The figures in the right-hand margin indicate marks. Government and Foreign sector, what are the
Candidates are required to give their answers in components of Aggregate Demand?
their own words as far as practicable. IR @ TR (13 AW R T @R A
e iRwta Soimimef &5 e
I Answer any ten questions : 2x10=20 f)  Define Marginal Propensity to Consume.
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a) Define GDP.
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g) What are the components of Demand for

o1 Zel Srepgl BLAMEE e MG | Money in the IS-LM model?
b)  How will the pairs of unsold shoes in a shoe- IS-LM S(e(s w124 bifenid & & Somi =itz 2
shop at the end of the year be accounted for in h) State the equilibrium condition of money

i 2
the National Income Accounts? market in the I1S-LM model.
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¢) How is GDP different from GNP 1)  What do you understand by Statutory Liquidity
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Statutory Liquidity Ratio J&te & (@Ri?
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i)

k)

)
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Among M1, M2, M3 and M4, the type of
money with highest liquidity is _ while that
with the lowest liquidity is .

MI, M2, M3, M4 @q 3K -49 ogeTol AR
@M, @R | <97 SFeTO] FAGE F |

when CRR is
increased, because a higher CRR the

The money multiplier

credit-creation capacity of commercial banks.
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In IS-LM framework, other things remaining
same, a decrease in autonomous planned
investment spending shifts the curve
to the .

IS-LM S(e(, A1 711 Sieifdafes e, Fig«itre
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Define the growth rate of GDP. How is it

measured?
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Define frictional unemployment.
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2. Answer any four questions: 5x4=20
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a)

b)

d)

481/Eco.

What is double counting? Where do we

encounter the problem of double counting?

Explain the method adopted to avoid it.
1+1+3=5
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What is transfer payment? Give an example.

How is the transfer payment accounted for in
GDP calculation? 2+1+2=5
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What do you understand by the IS curve? Give

the equations to derive the IS curve. 2+3=5

IS @ T&ice & @R? IS @2 (9Ite (ofeet @ @
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What are added and subtracted to National
Income to arrive at Personal Disposable
Income? 5
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g)

h)
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What is the difference between Net Interest
and Dividends? If National Income, calculated
through Income Method, shows that Net
Interest is significantly lower than Dividend,
what can you say about the state of corporate

financing in the economy? 3+2=5
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IR (16 W SEREISTSIE I, Oz FAEh
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Explain the Paradox of Thrift in the Simple
Keynsian model. 5

e (A NCOe] WeReid Paradox 147 54 |

Suppose a man buys a ten years old house and
pays the broker 2% of the value of the house.
How will this sale and the broker’s fee be
recorded in the National Income Accounts?

Give reasons for your answer. 1+1+3=5
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Define inflation. How is it measured? Who

are hurt by unanticipated inflation — the

borrowers or the lenders and why?
1+1+1+2=5
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3. Answer any two questions:
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10x2=20
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a)
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Categorize the following goods into Consumer

goods, Capital Goods and Intermediate goods:
10x1=10

feTide Taraler colsysiay, e 2o 8 gl
Aoy RO @qs Sl 2

(i) A house built by a man for his family to
live in

FoAfFRIE PR T4 Ty [t qife

(i) A sewing machine bought by a tailor to

start a business
PN Tl WG (el PTeTs. (I

(ii1)) A carton of threads bought by the same

tailor
O3 WG (@ «F A el
(iv) A kilogram of flour bought by a

confectionary to bake cakes

@ (o9 T (IR @l @ [eEmaN
vl
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b)
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(v) A kilogram of flour bought by a

housewife to make roti

Afre *H o s Ty el @ @
Fevias swmi

(vi) A cake bought by a housewife to celebrate
her daughter’s birthday

(@A G SAACTE (&l (& |

(vii) A bicycle bought by a man as a birthday
present to his daughter

(N e G2l BT (el IR |
(viii) A bicycle bought by a newspaper vendor

to ensure faster delivery of newspaper in

the morning

(A FITSSARR I AR & (&=l
A

(ix) A refrigerator bought by a family

e AT FACO @ refrigerator
(x) A refrigerator bought by a sweet shop
f®a @i @ refrigerator

Explain briefly the Income and the Expenditure
methods of National Income Accounting.
5+5=10
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c)
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In a Simple Keynesian model with Government

and Foreign sector,

PR @ @S sector W@ @ F @SR

0B,

(1) What does Autonomous Consumption
signify?
FRGNOTS (ol 7 eelof e

(11)) What assumption is made regarding the
relationship between income and
investment?
w7 ¢ e S 6 T>F g @ed
23|

(111) Why do we need to subtract the Total
Imports to arrive at Aggregate Demand?
e BIRAI (ATS (oNCeT (el A Sl fey
am face =2

(iv) Derive the Export Multiplier.
relfe woewa oAfasisl fo e

(v)  Suppose in an economy,the Consumption
Function is given by C = 100 + 0.8 Y,
(Y= income) and, the Investment is given
by I = 50,

What is the equilibrium Income?
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d)
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a3 wdtales TR @ AP
¢elel function &1 C=100+0.8 Y, (Y=3I%)
g e =1 1 = 50
SRGRCEINACIC ERIC

(vi) IfI increased to 100, would be the effect

on equilibrium income? What is the value

of the multiplier here?

I R @e = 100, SIEE SISy iy
ToE aeifie 3@? WEFE BIEa T 2

(vii) Derive the Savings function.
[+1+14+3+1+2+1=10

597 function © @ I

Explain briefly the different functions of
Money? How is the Money supply determined

in an economy? 4+6=10

wefa fafew @ Aewet S Fet | 9 o
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